[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.044
0.005

q

o

¥

+

Ratio

o
3]

L R | LA AR AL I AL LRRRN LR LA R LR RARRN LRRRN LARR

107 1

=
2
N

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO

Efficiend —— DQM_V0001_R000000001_Global_mkFitNewOLD1000time_RECO
ICIeNd __,__ pQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time_ RECO

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005
q

0.8

Ratio

0.6f o £ B S I
-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

N T : :
) R L SRLLRTT SLIRPRE
£ | : :
:/_)0085_ """ :’ """""""" é’""""g """"""""
004 FURRE SETTRRE SRR R SERISERE FUTPRS
P E : : :
=J0N1/ 25 CRTCI FRTCIRNSURRPRE: FEPULRR SUTPRRE: BELORS
) E : : :
2 0.05Ff-eeiereredrennnibe b
() E . N N
0.04F|wwrineenes SLLTEIE Beeeees Hooeeees Beeeeees
0.0BFf+eheerererinnrmnenibinnn
002+ heees Lo IR 1 SRR SEEEE
b TR Ty
oo ezt il
PR sreres eosress s ourow e [omses o
I S I A ! I
® ogft .|,++ ----- + & SRR
8L D
-10 -5 0 5 10 20

Sim. PV z (cm)



	Contents
	Page 1


